-11

m



m E 1905
E = mc>
(J) =E
(kg) =m
.c=2,99792 . 10® m/s =c
AE
AE
W2
AE = Amc?
( Am AE)
( Am AE)
Am ¢’
. m=1,67262.10"" kg E /1
1945 9 /2
. 8,4.10° 7]
E 1
E = mc?

E =1,67262.10%" x (2,99792.10%)* =1,50327.10"°J
E=1,50327.10""J
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/2

Am = &2
c
13
e 8,4.10 . 9,3.10" kg
(2,99792.10°)
Am=9,3.10"kg
10°kg=1g
-2
( )
(eV) 1'électronvolt
(MeV) mégaélectronvolt
1MeV = 10° eV

leV =1,6022.10"7J
IMeV = 1,6022.10 J

E=1,50327.10"%]
1,50327.107"
E = 19
1,6022.10

=9,3825.10%V =938,25MeV

m



(kg) (MeV)
) 9,1093897.107! 0,510999
1,6726231.10% 938,272
1,674929.10 939,566
oc(4 H e) 6,64472.1077 3727,14
2
)
u
1u=1,66054 .10 kg
. MeV/c? :
1 u=931,494 MeV/c*
-3
. Am
A
7 X
Am = [Z.m(p) +(A - Z).m(n) - m(A X)
Am
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ILi
N=A-Z=4 Z=3:
m(]Li)=7,01435u
Am = [3m(p)+ 4m(n)|- m(; Li)
Am =3.1,00727 + 4.1,008674 — 7,01435 =4;212.10 " *u

‘%X Eq

E, = Amc*)0

E, = Amc? = [[Zmp + (A — Z)mn ]— m(%X)ch

. MeV —

E, 2826

=7,065MeV : 4
A
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On+23§U—> Sr+14OXe+20n
On+23§U—> Kr+141Ba+3On

235 94 141

neutron
neutron

Es s10n

neutron

¢

fasion

fzs10n

\\'\A ‘neutron

¢
ﬂ‘ Iy ‘neutron

\\‘\L neutron
‘ neutron /_,_,;—J' e o
@

m



1945

Al g A8l LY 4y 555 Adana

m



pooill e lls asdedl Gedls g n ]

::—rf O

A
7 X

<) 2) A 1

A=4  2+3=A+1
=2 1+1=Z+0

“H+3H—>; He+on
)

m



12 X1+§§ X2—>IZ X3+§j X8
: AE
AE = [Ee (Xl )+ E, (Xz )]— [Ez (Xs )+ E, (X4 )]

AE = [m(X;)+m(X, )-m(X,)-m(X, )l

o

osiS (Aj+Ay)=(A3+A,)
osisn (2)+2,)=(25+2,)

—-[E,(X3)

Ezzxz) Ef(§4)]

A3z Ay
AEl 7y X3 + Z4 X4

AE <0
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AE=

AE =

235

On+2S§U—> Sr+14OXe +20n

Oss R 92

2m,, + m(140 Xe)+ m( Sr) (235 U)

m, +m('Xe)+ m(3sr)-m( U

OsdSS 236

E, (235 U)

235
On+ 0 U
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—[E, (gg Sr)
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B (140 Xe)]
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AE = 2m(!H )+ m(3 He) - 2m(3 He -2

m(} He)= 3,0149u;m(} He )= 4,001 5u; m(} H )= 10073

5 He+;He—>5He +21H

adan 4 el 6

AE =-12,8 MeV

Y
ZEEGH:) ~E,(45)
gHe+2He

ﬂEl 4 He+2l H

¥

A A-4 4

AE = (47 ) m{2e)- m{ X

m



A A 0 .-
zX = zhaY + e

AE=[m(, A b m, ~m(3x )}

A A 0 _+

A = m{ A b+ m, - m(3x )
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